
  3 

 (Descriptive study) 
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3.1

1.
4,434

2.  (Kerjcie and Morgan, 1970) 

 4,000  4,500  500  351  354 
 354 -351 = 3

 4,000  351  4,434 
434

  500  3
  1      3/500 
  434  (3 * 434) /500 = 2.6  3 

 4,434  = 351 + 3 = 354 
 354  9 

 363 
3.  (Mutistage Sampling)  16 

 (Cluster Sampling) 
 (Simple Sampling) 



25

3.2

 3 
 1
 2
 3

3.3

3.4

 1. 

 2. 



26

 3. 
1  1 

 4. 
 5. 

 95 

3.5

1.  (Content validity)  3 

 2  1 
 (Content validity Index, CVI)  0.966 

 10 

2.  (Reliability) 

 30 
 0.70

3.6

1.
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2.

3.

4.
 Fisherr’s Exact test  95 


